PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
20th July 2016, 12:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The first Tirthankara (Jain guru) was / U4H GIKEE )ﬁh = (Q
® Rishabhnath / BYYHATY
® VardhamanMahavira / COEIC 'FIB'Iﬂ:R
® Parsavanath / LIRG K]
® Adityanath / ey

Correct Answer :-Rishabhnath / BYHATY

2)
Question Stimulus :-

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / T®
Fid Yex HUHI DI U FHARG & g gRag &1 gt st B St 3 e e ueEr TRkl 9
91d B 3R 37w fawea e

A. This option allows having uniform rate for day and night trips. This would cost you
Rs.1000 per trip. / 98 faweu 3 3R Id &t g & forw 9o o® 31 9t ergafa 3ar 81 39w ufa amn
39 HT 1000 HT Je SATT|

B. This option has differential fare for day and night trips. Day _trips would cost 700 per tr.ip
and night trips would be charged 1200 per trip. / B. 9 ffra AR iR IA BT O & IEIY H
3R g1 a7 &t amn A wfa am 700 @wTa et ok wa & wid O 1200 gt SmQi

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /

C. 39 fdred ¥ Uo a1 &t $d il & YR W Y& foran ST $9H Ufd a1 800 Fug foswmar givm afe
g g8 50 . . @ ol ghft 8k 1100 wug fH=mm g afe gt 50 . . & ww grih

If the company has only 5 night trips and all less than 50KM, which would be the best
option? / Tf¢ U & U 5 Id H IEAT § 3R Tt 50 fraiier ¥ w0 o §, A FIF I G 33T

fa@we ghme

A



® FEitherAorB/A 3Ydl B
Correct Answer :-A
3)
Question Stimulus :-
This famous instrumentalist plays the Sarod / g m dliqed Wﬂ’d EIG] %
* Pandit Ravi Shankar / Uf&d ¥fa Ziwv
* Amjad Ali Khan / 3HSIG 3¢l W19
® Pandit Jasraj / uf&d SR
® Sajjad Hussain / T=ITG ga+
Correct Answer :-Amjad Ali Khan / 379G 3{elt @<
4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁnz, S aF B Eﬁ
IR UFEAFIITAAE

If you like genetics, then you like microbiology. / 3R 3(Tq AIRIH! Wig Hd 7, d M7
3IuTsig fagT g #vd B
e If you don't like genetics, then you don’t like microbiology. / 3RR 314 AP &l
TS B , o) 3ATT SUIeia fagm= &) wig & 8l
e If you like microbiology, then you don’t like genetics. / TR W&Mﬂﬂﬁﬁﬁmm
g, @1 3T SMgaifRret Wi el #d Bl
e If you like mlcroblology, then you like genetics. / TR Gﬂqérﬂjﬁﬂﬂﬁilﬂmﬂﬂ?f% ar

3ATT TGP Wig T4 B

e If you don’t like microbiology, then you don’t like genetics. / TR GITIT&I'UI\‘rﬁHﬁTITT-T

Wi T8 P &, d) Y TR TG T ed 2

Correct Answer :-If you don't like microbiology, then you don't like genetics. / 3R 34

LS fagT uie 81 B §, Y 317 Tgaifie! udig 781 Hd B
5)

Question Stimulus :-



A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women'’s
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /

A,B,C,D,E 3R F U% &9 & HeH 8| 39 GYg ® of fyarea &S &1 A, D & ufd &1 uTS 31 C 3ifa
3fear af$ fam= TaifresE & sregem 81 F, To RIdRdae®, $aRT 81 B 3t Udl 39 309 3t e el
%lg‘—lﬁﬁaﬂw%rwé’rwﬁaw%mél B 3R F, & & W64 # HgHHI 2l

Who is marriedto D? /D J fraet ‘x’l‘lﬂ’f Eé%?

Correct Answer :-E

6)
Question Stimulus :-

Who is the director-general of the Indian Coast Guard? / HRAg dc &P %Wﬁ%ﬂ'ﬁ Eﬁ? %?
® HC S Bisht/ TI ¥l Tg fyp
® Rajendra Singh / Tlﬁ?ﬁfg
* R K Dhowan /3R & 4@
®* VA Kamath/'ﬁt{m?{
Correct Answer :-Rajendra Singh / o< i
7)
Question Stimulus :-

The autobiography of Mahatma Gandhi is ___. / HelHT T Bt TP %_I
® My Name is Truth / 9T9 39 §9 sY
® My Experiments with Truth / HTd Wﬁﬁﬁﬁ fau g4
® The Sword of Truth / § WIS 3% sY

® The Honest Truth/ & 3 sY



Correct Answer :-My Experiments with Truth / HTH mﬁﬁ'ﬁw ﬁﬂgﬂ

8)
Question Stimulus :-

Where is Indian institute of Forest Management located in Madhya Pradesh? / H&I YR H YR a7 ya=u=
HRITF H31 R 3?2

® Indore / ?ga?

® Bhandavgarh / 9T[di6

e Bhopal / HIUTA

® Burhanpur / §XeTHYR

Correct Answer :-Bhopal / HIUT&

9)
Question Stimulus :-

Who is the founder of Wipro? / faut & JwIUS P %'?
® Narayan Murthy / TRTIUl 'H:ﬁ
® Azim Premji / 3oty Uit
® Mukesh Ambani / GBI ST
® Laxmi Mittal / a&iﬂ' e
Correct Answer :-Azim Premji / 3o UHof
10)

Question Stimulus :-

Which of the following belongs to the same family as Daisy, Pansy and Rose? / g # A 9 9 I aar A
Taifta 8 o o aasR, T99%d SR [are?

e Bed / UG
® Violet / ST
® Plant / arer

® Red / 9Td



Correct Answer :-Plant / Ul

11)

Question Stimulus :-

Which of the following groups of states has the largest deposits of iron ore? / frrafafed = & '\‘l'll?f ko
T g 3MA¥h BT 9ad 95 WS 82

¢ Andhra Pradesh and Karnataka / 319 Ue=T 3R &iic®d
e Bihar and Orissa / fagR 3k IS
® Madhya Pradesh and Maharashtra / T Y=l &ﬁ'\fﬂeﬂ'lg
e West Bengal and Assam / U3 §Td 3R 3H
Correct Answer :-Bihar and Orissa / 98 3R IS
12)

Question Stimulus :-

Which of these rivers rises in Tibet, known as Tsangpo, and crosses over to
India in the name of Dihang? / 39 dfeal A & #19  fassa #1 R ot 8, <74t & ¥ A ST

STt 8, ofR R & 9™ W YRA &1 UR &l 82
® Brahmaputra / Se1Ya

® Yamuna / Y-l
® Narmada / qﬂﬂT
® Godavari/ Tﬁ?ﬁ'\&

Correct Answer :-Brahmaputra / S¢19d

13)
Question Stimulus :-

Alberuni wrote this book describing the conquests of Mahmud Ghazni / AT A 7 g | HeHa TToTT
o1 fareral &t quiw fear

® Hasan-ul-nisami / 391 3o fAraTH
® Kitab-ul-hind / fpaTa Ia fe<
® Indica / Eﬁﬁﬂ



® Tabaqat-I-nasiri / ddThd § IR
Correct Answer :-Kitab-ul-hind / f&ara @ fa=
14)

Question Stimulus :-

If cream cracker means computer programming, and its not cream cracker, then it's

programming. / Tf¢ B $HHT BT Adad He UHATRAT B, 3R T P o2 T8l 8, a9 g MITRHT 81
e True / Hgl
* False / TIad
e Maybe / § 9&dTl 3
* Irrelevant / 3MRIf®
Correct Answer :-Maybe / 8 9&dl §
15)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁm
wil foT 7T HyT Td frepel & T # € @

Statements: / SY-:

Some dogs are pigs. / $O $d YR T

All pigs are cakes. / It ﬁal'\'aﬁﬁ %'I

Conclusions: / fAwsd:

I. Some cakes are dogs. / I. 99 G ﬁ%l

II. Some cakes are not dogs. / II. $8 & Pl gl 8l

® Only conclusion I follows / W ﬁ'ﬁﬂﬂf I fApaan %

® Only conclusion IT follows / Fad ey 11 Feaar %

® Either conclusion I or conclusion II follows / T a1 forswd 1 a1 fibr e 11 Frperar %

® Neither conclusion I nor conclusion II follows / 7 a1 fwpd 1 fAewerar % MR T 'E?f frspd 11

Correct Answer :-Either conclusion I or conclusion II follows / T dl frspd I a1 fpx forsd 11 fApetar

g



16)
Question Stimulus :-

Which articles of the Constitution of India relate to the office of the Governor? / YIRd & TfAe BT Gﬂ@? |

ISUUTH HrATag § e 82
® 153-162
® 168-177
® 188-191
® 196-201

Correct Answer :-153-162

17)
Question Stimulus :-

Where is the tomb of Babur located? / dTdX BT Hh AR W‘fﬁfa %?

® Istanbul / SXATg
® Kabul / ST

® Persia/HIRY

e Delni/ faceht

Correct Answer :-Kabul / dTgd

18)

Question Stimulus :-

Which one of the following metal is used thermometers? / ﬁn;rﬁ R ﬁq'\‘ﬂ urd yaiHer & EITﬁ"T ICZIRCIGI %?
e Copper / didl

® Mercury / URT

® Aluminum / mﬁﬂﬁ
® None of these/ﬁﬁﬁaﬁgqﬁ

Correct Answer :-Mercury / OIRT

19)



Question Stimulus :-

Who is the first Chief Minister of Telangana? / AT & Ugd 'ﬂ'@l’l:ﬁ:f CaE| %?
® NT RamaRao/lFIﬁQTFITTW
® YS Rajshekara Reddy / GTSUH TSIRIER 3!
® K Harish Rao/ P Bﬁ'-‘lT 1d
e K Chandrashekar Rao / & TgRRER Id

Correct Answer :-K Chandrashekar Rao / & 9gRI@R I

20)
Question Stimulus :-

Which is the Sanctuary that is located in Umaria? / P AT SYIRUY IAAT § YT %?
® Ghatigaon / UTERTg
e Son/ M

* Bandhavgarh / IYdTG

e Kanha / dI-gl

Correct Answer :-Bandhavgarh / SIHdTg

21)

Question Stimulus :-

The capital of Manipur is / IIﬁTET P ISYTT 8
® Shillong / R
® Imphal / SBTA
* Aizawl/ TSI
® Guwabhati / mﬁﬁ

Correct Answer :-Imphal / STd

22)

Question Stimulus :-



Rivers that bring in lot of water to the Godavari system / '_-Iﬁq"f, Ell Tnﬂ'ﬁﬁ :la GER:| U HTAT ¥ & ardt %
e Ken and Son / & 3R ¥
® Kanhan and Wainganga / dI-gl 3R AT
® Wainganga, Wardha and Penganga / a:lTiTIT, gyt 3R U=
® Tapti, Chambal and Betwa / ?ITGﬁ, I9d 3R daar

Correct Answer :-Waingangi, Wardha and Penganga / -9, @eif 3fiR U=im

23)

Question Stimulus :-

Who established the Madhav Music School in Gwalior? / TaTferaR ® HTHUE Wi faemerg &t RITg=r foa= o1
)]

® Pandit Vishnu Narayan Bhatkhande / GfS$d ﬁ'ﬂﬂ ARTIN YTAGS
® Pandit Ravi Shankar / Uf&d Ifa 2iex

® S N Ratanjankar / T T ISP

® Rai Umanath Bali /T SHTETY §fe1

Correct Answer :-Pandit Vishnu Narayan Bhatkhande / Gf$d faw aRTgor ytaes

24)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweu gﬁfq,\_rﬁ TH DI ﬁ
ITRRrm e FIaF 3§ :

It is not true that both mangoes are sweet and limes are sour. / 98 9 78! & f& 41 am

S g ok frg =g
®* Mangoes are sweet and limes are sour. / 3H Iﬂ%%éﬁ'\'ﬁﬁ@ gl
® Mangoes are sweet or limes are sour. / 3H He g ar ﬁnqa% gl
e Mangoes are sweet and limes are not sour. / 3 HId § 3R fg @2 78 €1
* Mangoes are not sweet and limes are sour. / 3H Iﬂ%‘ﬂ'{ﬂ?ﬁ?ﬁ'@@% gl

Correct Answer :-Mangoes are sweet or limes are sour. / 31 & g a1 forg &g g1

25)



Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. /3% {3 A,B,C,D,E 3R F &% ¥t 3R g@
U guac M A IS TIEDF T SR BIC AR BF A BIF,EMAF A I

Who is to the left of B? /B & Il 3R &I &2

Correct Answer :-D

26)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ faweu ﬂﬁﬁ,ﬁ aH Bt T

IRt e FIIAER:

If the sun shines, then we don’t use umbrella /T«Iﬁwmﬁ, a‘rsnmﬁmwaﬂﬂqé’faﬂ%
3

e If we don’t use umbrella, then the sun shines /ﬂﬁ%ﬂ%‘lﬁﬁ WT@[W%, ?ﬁﬁ'ﬁf
THHAT &

e If the sun doesn’t shine, then we use umbrella /uﬁwqﬁm %, ?ﬁ%ﬂ@'l?ﬁb‘r
I Hd §

e If we use umbrella, then the sun doesn’t shine /uﬁsnm?fﬁacrtﬁﬂaﬂﬁ%‘, Fﬁﬁ?ﬁ:lﬁ
THHAT &

e None of the above / IWRId P gl

Correct Answer :-If we use umbrella, then the sun doesn’t shine /Hﬁ?ﬂ%‘lﬁﬁmﬂﬂ'ﬂ
PRd B, a1 G T8) aHPpar g

27)
Question Stimulus :-

Who was the last Mughal emperor of India? / HIRd & Sifaw Wmﬁ? e?

® Bahadur Shah Zafar / dgTgN RTe STHY



® Aurangzeb / AT

® Dara Shikoh / €T &g

® Sjraj ud Daullah /ﬁﬂ'lﬁa?ﬂ

Correct Answer :-Bahadur Shah Zafar / 98TgR RTg ST

28)
Question Stimulus :-

Madhya Pradesh hosted the National Football League in the year ./
AT ye= A a9 H A= Ppedld AT B Aerar-l Dt

® 2013

® 2014

® 2012

e 2015
Correct Answer :-2013
29)

Question Stimulus :-

In the following diagram, the circle represents college professor, the triangle stands for
surgical specialist and medical specialists are represented by the rectangle. / IBE] Gﬂ?ﬁf
T, g Prae S MBI B UK HIdl 8, AP0 g2iar § IaRfras ARy R smifays ~Rifvss smaa
BRI Uegd fd 1 )

College professors who are also medical specialists are represented by / Pioiol WIS

it srgfagT fafee® off &, STt su axifan oar 3



Correct Answer :-X

30)
Question Stimulus :-

The figure below represents an unfolded box with numbers on several panels. Below of that are four drawings of boxes
with numbers. When folded, which box will it be? / EIE] H’ITR‘T fafirsr O9el W dei aran Udh ICGII de forar
g3 a1 fe@Tdl 8| Sud - Jemsil ard IRl $t IR TS 8| Bits FIA W, 98 DI AT a1 gHI?

Correct Answer :-

31)



Question Stimulus :-

At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three
of the program sets must be the ones that were operated on the prewous day. The program
operating must also satisfy the following conditions: / T SAdCH® Scl GITYH $HT WX,
P,Q,R,S,T,U,V 3R W 316 # & UTg ®riwH! g3 foa aam &1 fAuRa fean afga & uga R7 sise: frsh
W & R, ?ﬂﬂmaﬁwﬁmmﬁuﬁaﬁw%mﬁﬁmwl e w7l ¥ IER wEE
WUl Hgee-a gt aigu|

1. If program P is to be operated on a day, V can’t be operated on thatday. / 1. S IR P
PrIwH B fH G gaman S, @ 39 &9 v &1 gamn 1l o a@arl

2. If Q is to be operated on a day, T must be one of the programs to be operated after Q. /

;ﬁ;ﬁﬂqmaﬁmﬁqmm,aﬁmﬁwm 91T, St Q & dI¢ TATIT ST
|

3. If Ris to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R HRI$H &1 Bl feT aam smewm, @ v sriwHl ¥ U 891 I1fey, it R & d1¢ Il ST a1fge|

4. The last program to be operated on any day must be either S or U. / 4. 3ifaW ®riHH S
foreft f&1 e wire, 98 S @1 U § 9§ U g |9idul

If R is operated at third place in a sequence, which of the following can’t be second _
program in that sequence? / 3R R &1 $H # IR I U I1T 74T §, df B 9T HrIHH HH A
QORI g1 g1 Ahar?

°Q

Correct Answer :-Q

32)
Question Stimulus :-

What is the day on 23rd February 1994? / 23 BIa3] 1994 &I &I T feq 82
e Monday / JHAR
* Tuesday / HIddR

* Wednesday / §YdR

®* Thursday / *dRR



Correct Answer :-Wednesday / §YdX

33)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauy
98 T FTd S &l aifpal & e 3|

e Bag and Baggage / 9If¥UT 3R faar
e Kith and Kin / fir7 3R Hd<h

e Pen and pencil / 99 3R i@

e Bread and Butter / 8 3R HaGH

Correct Answer :-Pen and pencil / U9 3R tfra

34)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, u‘g@r I uel & o= fpedt
TR A B3 Gay 8| F fapen & J =@tar ug g e fw ug & 91y 3t ueR &1 d6y g

DRIVEN : EIDRVN :: BEGUM : ?
® EUBGM
® MGBEU
® BGMEU
® UEBGM

Correct Answer :-MGBEU

35)

Question Stimulus :-

The Shipping Corporation of India was conferred the status by the Government of India in August,

2009. / HIRATT rag FTH &Y 3T 2009 §, YRd TRPR gRT___ goit Y& fpar war 1|

® Maharatna / HgIRd

® Navratna / Td¥d



® Miniratna I / FFIRE Uy

® Miniratna IT / F9IR&E %T‘ﬂ'q

Correct Answer :-Navratna / 9d3d

36)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 38 faowed gfHQ
Sit fRT T Sy wd fAeeel & aR o 98 8:

Statements: / ®Y:

Some packets are not kids. / ¥ Ude 92 7 &
All packets are flies. / 9" @%e wfRaqi §
Conclusions: / A

I. Some flies are not kids / I. ¥ HfRayi I 81 &

II. All flies are packets / II. 99 HfRadi Udhe &
® Only conclusion | follows / *aa ey 1 Apadr %
® Only conclusion Il follows / *Had e 1| FHeadr %
® Both conclusion | and Il follows /EﬂTﬁ foreed 1 \’rﬁ?’ I1 ﬁw?r %

® None of the conclusion | or Il foIIows/ﬁWﬂf ITTIIN A aﬁﬁ =I€f IRCASGI %
Correct Answer :-Only conclusion | follows / #ad fremt I fApadr g

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faTpe i[ﬁ'E
St fRT T Syl wd feeel & aR & 98 21

Statements: / ®YH:

All pens are pencils / It waw IRa §

All pencils are erasers / 94 TR@ W &
Conclusions: / frep:

I. All pencils are pens / I. 9 iR $a# &

II1. All pens are erasers / II. It FaH W%



® Only conclusion I follows / Fad fepd 1 IRCSGI %

® Only conclusion Il follows / *Had e 1| P adr %

® Both conclusion | and Il foIIows/ﬁ‘ﬁ forsey 1 Gﬁ? I1 ﬁlﬁlﬁ %

® None of the conclusion | or Il foIIows/ﬁWﬁf IGTIIN A aﬁ'sf :Iﬁ IGEASGI %
Correct Answer :-Only conclusion Il foIIows/aﬁ?[ freed 1| freedar %

38)
Question Stimulus :-

What is the maximum distance between the two vowels in terms of numbe_r. of _Ietters,_
in the word, ‘"TRANSGRESSION’? / ‘TRANSGRESSION’ ¥Z H 31&R] &1 IWT & Jay #, & Tl
& a9 o1 rf¥man gt frast 82

e 1
e 2
e 3
e 4
Correct Answer :-4

39)
Question Stimulus :-

If the positions of the first and the sixth digits of the number 2796543018 are
interchanged, similarly the positions of the second and the seventh digits are
interchanged and so on, which of the following will be the third to the left pf seveni;h
digit from the left end? / GBI 2796543018 FT Ugd 3R TS WM P 3% AT4H H 9 ¢ &1 g
ARE, Y 3T WTad & W & 3 M H ¢ ¢ § 3R 32t ave a1t oip W sea e g1 g &/
DI AT 3(d & I 3R A FTad 3P & T 3R A R R W ghm?

e 0

e 1

o 7

e 8

Correct Answer :-1



40)
Question Stimulus :-

C and D are married couple. P and Q are brothers. P is the brother of C. How is Q related to D? / C GﬁT D Q'I'I'cﬂ'-'{ET

SirST 81 P 3R q UTE €1 P, C BT UTE 81 Q, D V HY Yaf¥a 82
o Brother-in-law/aa?

® Brother / Q-I'Ig'
® Son-in-law / QTHIG
® (Cousin/ TRT ‘H'I%
Correct Answer :-Brother-in-law /éa'\r

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqw &R D sE@ar Ca| RIBIC: b _
bbc _ _bc_bb_c

® cbbbb
® bbcbb
® bbbcb
® bbbbb

Correct Answer :-cbbbb

2)
Question Stimulus :-

In the foIIowing qpestipn, one term in the number series is wrong. Find out the wrong
term. / f99 Uy ¥, S=1 4@ ¥ T U Teld g| Teld U 3d $IvA| 6,14,30,64,126

® 126



Correct Answer :-64

3)
Question Stimulus :-

] 9

The length of a gridle is GEmetre, when 4E meter is cut off, what is the length
6 g

of the remaining part? /WW@W@GEI?[%,W4E P 3d g, A 91! g
P TS T 82

-
!

Correct Answer :-110

4)
Question Stimulus :-

If 134 means ‘you are safe’, 578 means “they go home’ and 389 means ‘they are back’ 247 home is safe, which of the
following represents ‘back home safe’? / ?T% 134 &1 A ‘you are safe’, 578 I 3 ‘they go home’ T4 389 &HT 3ref
‘they are back’ 247 BT 31 home is safe’ % ,E:Iﬁ A DI ‘back home safe’ B FA=fIT BT %?

° 784
* 478
* 473
* 479

Correct Answer :-479

5)
Question Stimulus :-

A is twice as fast B and B is thrice as fast as C. The journey covered by C in 54 minutes will be be covered by A in/ A CARIIG



gﬁﬁnﬁﬁaﬁmﬁ%eﬁvsaﬁwﬁcaﬁﬂﬁﬁ?ﬂqﬁ%l 54 fFTe § C GRT a9 1 I g &1 A a4 SHT A T4

e 18 min/ 18 fi=e

e 27 min/ 27 fiFe

* 36 min/ 36 fiIe

® 9 min/ 9 fAe
Correct Answer :-9 min/ 9 fe
6)
Question Stimulus :-

Selling price of 20 oranges is same as cost price of 30 oranges. Find the gain Percentage? / 20 TR BT

Y Ted 30 TR &1 AN oI & SRIER ¢ | a1H BT Ufa=ra dl amg?
* 70%
* 80%
* 50%
e None / ilﬁ'é'zlﬁ
Correct Answer :-50%
7)
Question Stimulus :-

In the sequence shown below, which figure comes next? / 4R R 14 ww # snTelt Gﬂq?ﬁ
$4 ¥ grft?

*8 0 OO ®CDO elale
Lol L el L dele ®00
o0 e L 1 1 L 1 1 J LN
o000
elele
L1 18
[ ]
00
ol 1
. LOVU®




00
®Ce
oee

QOO0
eC0O
*e 0

Correct Answer :-

8)
Question Stimulus :-

Complete the series choosing the missing number: / fagw BT B sE@aT Ca| TRT HIfo :

224,195,168, ;120
° 144
® 145
° 143
® 146
Correct Answer :-143
9)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faﬁ'l?[ &R AP SRadT B Rl ﬂ’ﬂﬁﬂ! taa_bcc_abb_caa_b_

c
® acbcb
® acbbc
® bacbc
® chcab
Correct Answer :-bacbc

10)



Question Stimulus :-

Find the selling price, when cost price is 3680 and gain percent is 12 /2%. / ﬁaﬁquarw
Y, 9fe @R gou 3680 & iR &Y ufaxra 12 2% g1

® 3140
® 2140
® 4140
® 1440
Correct Answer :-4140

11)
Question Stimulus :-

How many different 6 digit numbers can be formed from the digits 4,5,2,1,8,9? / 4,5,2,1,8,9 3B A B 3P B =T

FT AT HXb fPa- fafta siw a7 aFd &2
* 360
* 720
® 480
* 840
Correct Answer :-720
12)

Question Stimulus :-

Complete the series choosing the missing number: / AW JBI gAHR 4Gd1 B R HIOT :

0.5,0.55,0.65,0.80,
® 0.90
® 0.85
® 0.95

® 1.00

Correct Answer :-1.00



13)
Question Stimulus :-

Tickets numbered from 1 tol5 are mixed up and a ticket is drawn at random. What is the
probability that it is a multiple of 3 or 5? / 1 ¥ 15 d® 9@ & fewe 3muy # fia ¢ 8, us fewe
P AFAfa &1 AHTaT SIar 31 a1 JRHIGAT 8 B Sl =T 31 SYHT U 3 3R 5 32

® 7/15
* 8/15
® 9/15
* 1/3

Correct Answer :-7/15

14)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 33 T IR uai # & 2 33 10 d & S IHH I A1 TP e 22

Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(i) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(ii) Woods, Greg/Hefinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781



(iii) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

(iv) Woods, Greg/Heflinger, Joan
613 Lafayette Avenue
Crawfordsville, Indiana 47933

(317) 362-2781

® iii

* iv
Correct Answer :-ii
15)

Question Stimulus :-

If BOLSTER is coded as ANKRSDQ then ANKDSRQ is coded as / gfé¢ BOLSTER &1
ANKRSDQ 9 $if$d a1 wirar @ @ ANKDSRQ &1 3 #ifea farar smam

® BOLETRS
® ZMICRQP
® ZMILRQP
® OLBTRES

Correct Answer :-ZMICRQP

16)
Question Stimulus :-

If A: B = 2:5, B: C= 15:9, what is A: B: C? / Uf¢ A: B = 2:5, B: C= 15:9 g dl A: B: C T 82



°* 4:7:6

e 2:5:3

® 4:7:5

e None / ®IS T8I
Correct Answer :-2:5:3

17)
Question Stimulus :-
In a code, cox un mev means ‘bread and jam’, un mev lod means ‘bread and butter’ aqd
gis un lod means ‘butter and toast’ what would be the code for ‘jam and toast’? / T®h e
'l?f, cox un mev 34fd ‘bread and jam’, un mev lod 3Yfd ‘bread and butter’ Ud gis un lod 3ryfa
‘butter and toast’.'jam and toast’ ¥ forg < Toba ghIm?

® gis un cox

® gis un mev

® mev un cox

® gis un lod

Correct Answer :-gis un cox

18)
Question Stimulus :-
Tickets numbered from 1 to 20 are mixed up and two tickets are drawn at random. What is the probability that the
drawn tickets are multiple of 4? / 1 A 20 9P T=T %ﬁwmﬁfﬁaw%, 2 fewe &t sfTafia ara
FIpTen SITaT 8 | T ARITEAT § Pt o WWT 3 IHHT U 4 3MA?

° 1/2

° 1/3

® 1/6

° 1/4

Correct Answer :-1/4

19)

Question Stimulus :



If the side of a square is increased by 20% then what is the increase in its area? / gfe it &t ?IET&F # 20% del

fear o, af 39S ava | fra-t sl gnfi?
* 40%
* 44%
* 42%
* 50%
Correct Answer :-44%
20)

Question Stimulus :-

A man covers a distance at a speed of 45kmph and returns back at a speed of 30 kmph.

Find his average speed? / Wﬂﬂ'ﬂlﬁ@gﬂﬂﬁ45 W/ﬁ@ﬂiaﬂﬁwm% 3R a9y 39 ﬁv‘lﬂ/
T A dledl | I9PT 3N9d I Awifere 2

e 33

° 37

® 36

° 34
Correct Answer :-36
21)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / e Gﬂ?ﬁf P 91 & o
gAqu "er # feadt i rarsi &t smazawar grfte




Correct Answer :-10

22)
Question Stimulus :-

If ‘Knowledge’ is encrypted as 256535475 how is ‘General’ encrypted as? / gfe
‘Knowledge’ &1 256535475 ¥ TAfHY a1 741 § a) *General’ &) $A TAfdpy fHar e

® 7545993
® 7969393
® 7555913

e 755591

Correct Answer :-7555913

23)
Question Stimulus :-

In covering a certain distance, the speeds of A and B are in the ratio of 3:4. A takes 30
minutes less than B to reach the destination. The time taken by B to reach the destination

is/ T Mffa gd Sl T a1 4, A 3k B $1 7fd 3:4 F U & 81 U Tdqod WM P Uga & g A
$I B $t g1 & 30 fFe &0 @71 81 Tidsd RIF 9% Uga- & e B gR forar mar awg

® 1hr/1Yel

L 1
e 12hr/1249Ycl
® 2hr/2¥YeTl

1 1
e 22hr/ 229eT

1 1
Correct Answer :-12hr/1 29¢T

24)

Question Stimulus :-



A can do a work in 30 days. He works at it for 20 days and then ‘B’ finished it in 12 days. In how many
days ‘B’ alone can complete the work? / A T &1H 31 30 =i ° URT P bl HEH 39 W 20 f&Ai a%
FTH FIA1 § 3R R B’ 12 3T § $ &1 Waw a1 31 ‘B’ b fova-t &1 § S B Wa¥ HR APl §2

e 32days / 32 feF
e 35days / 35 faT
e 30days / 30 &
e 36 days / 36 faq

Correct Answer :-36 days / 36 &

25)
Question Stimulus :-

(300/100)x15+(5x5)-(84/6)x4=?
° 14
° 13
* 16
e 56

Correct Answer :-14

26)
Question Stimulus :-

If A’s weight is 30% less than that of B, how much percent B’s weight is more than that of A? / "-TI% ABIIST B S I 9

30% PH §, Al B BT aolH A S gol9 ¥ fraa ufawra aiftre givm?

5
* 427%

4

o 427%

B
° 427%
]

o 427%

-]
Correct Answer :-427%



27)
Question Stimulus :-

If THIRST is coded as UIISTU, decode LAMENT / Tf¢ THIRST &Y unsTu | ®Ifed far SITdr 8, SiLAMENT &1
fawrs Fifor

MBNFOU
® MANTLE
® KZLDMS

® SMDLzZK

Correct Answer :-MBNFOU

28)
Question Stimulus :-

The series given below contains a s.equence.of_al_phabets and numbers. Identify tr_|e
incorrect combination: / <18 & T3 daaT 1eRY U H@HISH HT SIHH YUNT Het 3| Tad Jae
ggaI-|

(i) MERC3ERVI55
(ii) MERC3ERVI55
(iii) MERC3ERVI55

(iv) MERC3REVI55

® i
® jv
Correct Answer :-iv

29)

Question Stimulus :-

3071P x 582 = Q5335548

Where P & Q are representing different numerals, find the value of P? / 3071P x 582 = Q5335548 \_SIBT P Gﬁ? Q faft=
@IS §; 99 p BT A fAPIferg?



° 4
Correct Answer :-4
30)
Question Stimulus :-
(10002 - 9992 ) is equal to / (10002 - 9992 ) TR & ISP
e 1
e 1000
e 999
e 1999

Correct Answer :-1999

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Which of the following shaded regions represents the equation x + y =5 in the first

quadrant. / 9 & & ®19 @ o1 IR &7 g Iguin § G0 x + y <5 F giar §




Correct Answer :-

2)
Question Stimulus :-

If an alloy is to contain copper and zinc in the ratio 9 : 4, then the zinc required (in kg) to be melted with 24 kg of copper is:
/ afe tw fgurg s & T dfar vd Skar 9:4 & 3guTd A 9HIfAY ST ], 99 24 I dtar & Ay
fraam & g smazas sar (B ) &

* 10%/,

* 92/,

e 10/,

* 9
Correct Answer :-10%/,
3)

Question Stimulus :-

Which is the starting material used for the manufacture of synthetic fibres like rayon, polyesters, nylon etc? /

TfRay dq S ¥ar-, Uiy, Argar snfe & faftmio & fore @19 ¥ yrfRre verd &1 v far srar

&



® Inorganic compounds. / 3ol Afire

Petrochemicals. / a@%—&lﬁq
® Complex inorganic compounds. / Sifed ervla Tifire

® Raw materials from plants. / el & = uerd

Correct Answer :-Petrochemicals. /a@ﬁw

4)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using

the information provided. / % 7% g 2004 ¥ w@ e 9qg! #1 wfUa &mar iR e (S o
g ) fAErmdr §1 Suasy FRI5 TS AHPRI BT ITINT $X 4 wawdi & oad ¢

Cement Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

AN

.
s
RN

NN
NN

AMMINNRRNNNY

Yerragatia m\\

Chandleri

e ayg- emar 3R e (SH1 § @1F e, 2004)
RIU &, Sae

Which of the two clusters’ combined production would be equal to the production at Gulbarga cluster? / fa E,':f H’Hﬁ‘f Cal
YT IUTe TAST TYE P I b SRIER GRIT?

® Nalgonda and Yerraguntla /T'IFITﬁT-;T 3R aTI'ﬂE?IT
e Bilaspur and Nalgonda /ﬁ?l'l'\‘l'ﬂ? 3T TSt
* Bilaspur and Chanderia /ﬁm 3R defemn

e Satna and Chandrapur / Fa+TT 3R TGYR



Correct Answer :-Nalgonda and Yerraguntla / T@I ST 3R 'a?TﬂE?IT

5)
Question Stimulus :-

If by selling 110 mangoes, the cost price of 120 mangoes is realized, the gain percent is? / gfe 110 39 ) a9+ ﬁ,
120 3TH $T HI-Ted YT g1 AT &, df a1y HT yfa=id &

9 L %o
11

Correct Answer :-

6)
Question Stimulus :-

High speed winds are accompanied by / 9% Tfd 9Tell 91g WIfod gd! 8 39F gRI-
® Reduced air pressure / A1 & &a1d § HH
® Lightening / 3THTRI fagaq
® Thunderstorm / faoTell 3R aureafy & w1y arelt oih

® Increased air pressure / dIYg > odld | Q'@
Correct Answer :-Reduced air pressure / a1 & gard § BT
7)

Question Stimulus :-



Two musical notes of frequency of 512 Hz and 768 Hz are produced by a violin .Which one has higher pitch? / Ud
I GIRT 512 §H 3R 768 oW B 3G F &) Wiltd = H1 ITeA 8 38T 31 50 A fpad sifte
fira &2

* 512 Hz / &H

* 768 Hz / §C

® Both have the same frequency /Eﬁ:ﬁ: G| &nqﬁr dRTAR %’
® Pitch is not related to frequency / forg &1 G-I'Iﬁﬁ[ q ﬁ'{ '\‘Iﬁ&" T-Iﬁ %

Correct Answer :-768 Hz / §¢W
8)
Question Stimulus :-

Which of the following statements is WRONG? /ﬁ'ﬂ' | CaE| T DY Tdd %?
® Unlike charges attract each other / STHHTA 3maer Th i'\‘ﬁ' &I SMHTd Bd %

® During lightning, it is not safe to be inside a car with a metallic top / ?l'%_cf & T:aTI_-I, yifeae T &t dR &
3aR T qRfea et @

® Lightning and thunder occur almost simultaneously / ?‘I'%_d 3R TSI TIHIT U 91y 'Ea?[ %

® The charges developed on bodies when they are rubbed against each other is due to transfer of electrons from

onebodytotheother/ﬁfﬁﬁﬂﬁ@gﬂ%%ﬂﬁ&fmﬁﬁwmﬂﬁm@ﬁgﬁw
fiis # saael % RIFIGR & SR gl 2

Correct Answer :-During lightning, it is not safe to be inside a car with a metallic top / aﬁ-;a & ?aTIT-[,

yTfere il At SR F 3 81 GRfa 8 &

9)
Question Stimulus :-

Select the best electrical conductor from the metals given below. / frafafea %ﬂﬁaﬁ H 3 9d9s ﬁ?ﬁﬁf arde
T I HIeY

® Silver / il"ll_(ﬁ
* Aluminium / TIHI "
® Copper / didl

® Iron /?ﬁ?T

Correct Answer :-Silver / dldl



10)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / 7% 7% af 2004 ¥ g WiHe JqgEl @1 wIfdd emar iR Iae (1 A
WRg 29) f@mar 81 SUas HR1S TS SFS R BT IUUNT B Y Jardl & oaE ¢

Cament Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12 4

10 4

NN

]
RS
RN

NN
NN

AMMIMTRNNNRY

Yerragada m\

Chanderi

Hie wqg- &mar 3R Idreq (G # @ra e, 2004)
RS &HdT, IdTeA

Which two clusters had equal cement production for the year? /WI 3:f '\‘Tﬂ?} A 99 # R HHT BT Jdig far
Yr?

Bilaspur and Nalgonda /fa@RIqR 3R TermsT
Satna and Chandrapur / T 3R qaR

Nalgonda and Yerraguntla /:I'FITﬁGT 3R ﬁwy&n

Gulbarga and Chandrapur / W’I‘f 3R EIQ'ER'
Correct Answer :-Gulbarga and Chandrapur/WﬁGﬁ? TER

11)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using



the information provided. / 7% IT% a¥ 2004 ¥ w@ Wie 9qg! $1 wfUa &mar iR e (ST o
a1 o) feEmar 81 Iudasy BRS TS BRI BT IUUNT B AY Ja1el & o9 &

Cament Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12 4

10 4

NN

I
AN
_\\\\N

NN
c— NN

NN
Yerragada &\\I\\\:\\

Chaxleria

Gl

e ag- emar 3R Idre (S § a1F e, 2004)
YU &1, ITGH

Which cement cluster’s had the lowest percentage difference in the installed capacity and the production? / frg Hide

el @1 T &AraT iR Icute-T H g HH UfA=rd &7 3R 32
® Satna / HdAT

® Gulbarga /W‘f
® Nalgonda /:l?l"ﬁ:‘!T

® Yerraguntla /ﬁwjzm

Correct Answer :-Satna / dddT

12)
Question Stimulus :-

Two circles with the same center and different radius are called A qd

ST %% TP 81 3R BuTd 3renT-oren §f 98 P &l
e Concentric circles / g&fadga

e Eccentric circles / S&faaga

e Congruent circles / gafraw ga



 None of the above / 34 & 35 78
Correct Answer :-Concentric circles / d&fad gd
13)

Question Stimulus :-

Find the volume of a cuboid 16 m long, 14 m broad and 7 m high. / S -TH T 3G J1d PIOY St 16 Hex W 3,
14 Hiex NeT1 8 3R 7 M ST 21

® 1568 cubic meter / 1568 U+ Hiex

® 968 cubic meter / 968 U+ Hier

® 1604 cubic meter / 1604 T HIex

® 1509 cubic meter / 1509 YU+ Hiex
Correct Answer :-1568 cubic meter / 1568 ¥ Hlex
14)

Question Stimulus :-

In the given figure DE || BC. Find EC / <€ Tt 3irpfa & DE || BC 8 @) EC 3Td &1

A

A
15 tm .ﬁ"‘l 1"«
=tms ] em

I *..‘
D/—F
3em LY

\

%

* 2cm /2 9L

® 3cm/33H.

® 1cm/1EH.

* 1.5cm/1.59H.
Correct Answer :-2cm / 2 &,
15)

Question Stimulus :-

The device called is used by the doctors to amplify the heart sound, it consists of an ear piece, tube and

/ ¥eU afq # 9e[ & fae Rifvcrs! gr1 wgea gfea Feard! 31 399 NS, 70 iR



¥l
® Thermometer, heart piece / ?‘ITCI'FITfﬂ, E'I'(.F k|
e Amplifier, Chest piece / Uad®, I3 fig
® Stethoscope, Chest piece / @m, %]w irs)
® Stethoscope, heart piece / %%ﬂwﬁu, E'I_é LiE|

Correct Answer :-Stethoscope, Chest piece / '\‘%‘Lﬁ'\‘?ﬁ'q, 9w G

16)
Question Stimulus :-

Raj constructed a new house. He concreted the surroundings and pathway to his gate. As a student who loves
nature, which of the following statement would you support? / TSl C| TP "¢ UX B frafor fram S99 A
STATS & SMURT 3R I B Heple F 791411 T faandfi Fl g A mpfa A uR g s A a9 A
FYT B 39 AT 2

® Concreting will not allow the water to percolate in the premises / HwieT uaR # Ut Bt ‘gﬂﬁ T-Iﬁ

® It will prevent water logging / T Ut & SHTG B B
® It will keep the premises look neat and tidy / T IR &t 916 JWT fe@mar wem
® Tt will become slippery during rainy season / v & Wy | g fieaes | el ST

Correct Answer :-Concreting will not allow the water to percolate in the premises / BeifeT afvaR |

U @Y g e 3
17)

Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / 9 71w a¥ 2004 ¥ W@ Wie Jqg! 1 R &mar 3R e (1 §
TG ) RREmar 31 Iuas HRI5 T8 AFHR BT ITANT B 7 Jaral & a1 ¢



Cement Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12

10 1+

NN

I
AL
_\\\\N

NN
“""""‘“"_A\\\\\\\\\\s

NN
Yerragnta '&‘\\ll\\\\

Chandleri

Gl

We Te- emar 3R Iare (SH1 # @1 2, 2004)
YU &HdT, IdGH

Which of the following clusters had equal installed capacity for the year? / Fafafaa '\‘THE.T A A aT'ﬁ B RTfUa
e a9 # R A2

® Satna and Gulbarga / Hd-T 3R '{]?W"Tf
e Bilaspur and Chanderia /ﬁ?ﬂﬂ'ﬂ? GﬁT T’-Iﬂﬁ'ﬂT
* Nalgonda and Yerraguntla/ @I ST 3R ﬁ?mz?n
® Chanderia and Nalgonda /iiaﬁ'fﬂ 3R TAST
Correct Answer :-Nalgonda and Yerraguntla/ T ST 3R ﬁ?mz?n

18)
Question Stimulus :-

The phenomenon that helps us to see different objects around us. / 98 URgeqT g g0
AT IR ¥ A aegsl @) 3@ wpa § oA &

e Regular reflection / fafa wadq
® Refraction / 3qdda-
e Diffraction / faadq

* Total internal reflection / & 3dARP W



Correct Answer :-Regular reflection / fafta wada

19)
Question Stimulus :-
Insert the missing link in the food chain. / Q€] mﬁaﬂ?ﬂﬁmﬁl

Grass —* ------------- — frog —* snake —* eagle/ U —®--cmmmmmmmama — e
— g — T3

sun / g4
squirrel / Fregst
lion / 2

* insect /PBIT

Correct Answer :-insect / I

20)
Question Stimulus :-

Sanjana's roll number is a two digit number. Her friend Alisha's roll number has the same
digits as Sanjana’'s roll number, with the digits interchanged. If they add their roll
number, and divide the sum by 11, then is the remainder. / TSI &1 HHID
3 3P B HEaT B 1 SHBT AR rehtwn F HHIP F 9 3 fafdfrug § oY 3 oA b wHie | &1 A A
3T HUID! DI Wlg, TI AN &I 11 I Avfoa 9, a9 Ay g1

e 0

Correct Answer :-0

21)
Question Stimulus :-

Following graph shows the installed capacity and production (both in million tonnes) of
cement in major cement clusters for the year 2004. Answer the following questions using
the information provided. / % 7% g 2004 ¥ @ e 9gg! #1 wfUa &mar iR e (1 o
G ) RREmar 31 Iuas FRI3 T8 AFHR BT ITANT B 7 Faral & a1 ¢



Cement Clusters - Capacity and Production (milllon tonnes, 2004)

O Installed Capacity @ Production

14

12

10 1+

NN

I
AL
_\\\\N

NN
“""""‘”_m\\\\\\\\\\s

NN
Yerragnta '&‘\\ll\\\\

Chandleri

Gl

We Te- emar 3R Iare (SH1 # @1 2, 2004)
YU &HdT, IdGH

Which cement cluster’s had the highest percentage difference in the installed capacity and the production? / fa e

T B RN &ar 3R Idred & S=ran Hiiwrd &1 3w 82
® Satna / HdHT
® Bilaspur / ﬁ'ﬁ'l"\‘l'g?
® Chanderia /iiaﬁ'cﬂ
® Nalgonda /q?lTﬁ.gT
Correct Answer :-Nalgonda /HFITﬁ?,T

22)
Question Stimulus :-

Among the appliances listed below, which does not use electromagnet? / LIk ﬁ?ﬂﬂ@ IUHIUI H A P ﬁgu?r
YaP BT WIANT g1 Ha1?

® Toys / TCRIE]

® Electric bell / EEGIEIR

® Washing machine / T 7=
® Room heater / H Blew

Correct Answer :-Room heater / ¥H 8l



23)
Question Stimulus :-

The animals which have water vascular system are / 3 ugq o e wie EIT%EFI GE] ﬁ?ﬂ %, ib'ﬁ'ﬁ'l?f %
® Fishes /H@'ﬁﬁﬂ
® Sponges and Hydra / ¥l 3R HEEL
® Whale /%?I'
° Dolphine/ﬁﬁ'm
Correct Answer :-Sponges and Hydra / ¥4l 3R HEEL

24)

Question Stimulus :-

Oral drops are administered to children below 5 years to eradicate a disease from our country. Which is that viral

disease? / THIY <X ¥ TP INT e & AT 5 96 A U IY & gl &) AP g ot Adl g1 Ig IR
dart 1 A 22

® Polio /tm%'l'!ﬁ

Tuberculosis / &I T

Typhoid / <TAWIZS
Chicken pox /Eﬁ'a Eocg

Correct Answer :-Polio / TIferaY

25)
Question Stimulus :-

The area of the triangle ABC given in the figure is / feu e fa ® Bt
ABC &T 89%d 8




°* 60

° 24

° 30
Correct Answer :-24
26)
Question Stimulus :-

it —0x+18=0 x°-0x+18=0
Find the roots of the equation / SHtsRor & Ja Aeifeg

6and 9 / 6 3R 9

6and 6 / 6 3R 6

3and 3/ 3 3R 3

6and 3/ 6 3R 3

Correct Answer :-6 and 3/ 6 3R 3

27)
Question Stimulus :-

Evaluate sin 60° cos 30° + sin 30° cos 60° / sin 60° cos 30° + sin 30° cos 60° &1 oAb
|

e 1

* %

S 12

e 1/4
Correct Answer :-1
28)

Question Stimulus :-

What is the main reason for decrease in number of rare animals?/§?f‘1{ 'CI'-‘{[G-ﬁ Pt &I ° HH BT U9 dRUT
1 8?



* Hunting / R

® Cutting the branches of few trees which give food to animals / P& q&ﬁ P Q13T BT FeAT St tl'!ZI\?rﬁ Ca|
MBI &t &

® Over grazing / AT YD ?R'Ié
® Deforestation / HT'ﬁ':ﬂ?Fl

Correct Answer :-Deforestation / T

29)

Question Stimulus :-

Treaded tyres are grooved. It is done / = L1+ e TR Eﬁm m %'I QHT forar irar % :
® To provide better grip on the road / HS®H WY ésa? b g UglH AP ﬁI'Q
® Make the tyre look good / TR P 3T fe@H & ﬁl'({
® To decrease friction of the tyre with the road / ISP & 1Y TR & TYUT B HH B4 &b ﬁm’
® |ncrease the risk of sliding / frae & Tda¥ &1 Wﬁ ® ﬁl’E{
Correct Answer :-To provide better grip on the road / TSP UR IR UHS UG- B34 & fo¢
30)

Question Stimulus :-

Ganga action plan, launched in 1985 is aimed at / 1985 o T TR ST &7 e 5 a%(m
g gl

® Using River Ganga for spiritual activities / TTT a4t &1 IUANT et Mfafaftel § #9 & "%I'Q'
® Developing River Ganga for attracting tourists / T A<t 31 fae™ wded! & anefid 3
& forg

® Reducing pollution in river Ganga / 79T adt | UgUUl vH AP ﬁnz
® Building dams in river Ganga / 79T T R Tyl & fFwfor & m

Correct Answer :-Reducing pollution in river Ganga / 79T 9l # UgUUl ®H 3 & fog



